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1. AREIfeh FI 1 Ie¥F FREFIEA H
IRFAITE o
eI ST |
a) Fre
b) Ffar
c)m
d) TR
e) 3Wad § & I3 e

2. frafafiga § 9 w1 grefes Sive &

)

Interpersonal skills aim at improving
job performance and making the
_______amore val_uéble asset.
a) Employer

Emploifee
¢) Customer
d) Doctor

e) None of the above

Page No. 4

2. Which of the following is not a part
q e ? 7 of interpersonal skills ?
a) gfdg=A a) Feedback
b) fervama b) Trust
c) aTgeTd c) Expectations
d) Teu d) Values
e) 3l e) Rigidity
3. Qmaqﬁra‘}q?ﬁa aqﬁaa;:ﬁaﬁ_ 3. A successful team leader expects
i &% w9 § =Ear & | his team members to be
a) SIHTEH listeners.
) g ——
c) wia Mcti.\fe-
d) FEHT 2T ' d) Marginal
e) SR H g el €) None of the above
4, FHETHE AATHITHTGUTT 4. The transmission of the receiver’s
FeaTar 2 | response to the sender is called
a) o1 a) Language
b) sTSoT b) Speech
c) wfag=mT ¢y Feedback
d) i d) Decoding
e) I 1 IS Tl e) None of the above
CGP-15-02 * -
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5. GeT WA % gE s 2
) Taw

ll) 3%

1) =TeH

IV) 2w

'Wﬁﬁﬁiﬁ:
a) I, I3ty
b) I, 131
o) 11, a1V
d) I, NSRRIV,
e) IWed gufi

6. fFrud=sR sifieafa “am stfighy”

it 2 7

a) HE HATTH! e e Y9G 2 |

b) # STy Gfera T =T € |

C) STTURY ST TETaT Bt |

d) Hel STUeh! ST §T A THAT B
@R

e) & aTveh faged o form 2]

T wEl =l fire wd w2 A g & e
TR 5 ; 35 T 77 B ?

1
a) 402
1
b) 462

1°
422

d) 43°
e) 3 & FI3 el

C)

-GP-15-02 *
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6.

The important components of
communication environment are :
[) Message

Il) Response
ll) Channel

)

V) Telephone

Choose the correct code :

a) I, land IV
b) I, lland (1l

c) I, Ul and IV
d) I, llland IV

@(AIJ of the above

Which of the following expressions

shows “You attitude” ?

a)‘ I'am very happy to inform you.

b) Iwant to inform you.

¢) You would be happy to know.-

d) It gives me immense pleasure
to inform you.

e) We have appointéd you.
What will be the angle between the

minute hand and hour hand of a clock
when the time is 5: 35 ?

d) 43°
one of these

Set-A
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8. =1 X =1 gdi faswey B |

a) 18

b) 19
c) 15
d) 14 .
e) 3T ¥ I3 gl
9. ‘U % wyH W faqga wem B | 9.
4 | 1 2
13 11 6
1531120 ?
a) 32
b) 45
c) 16
d) 48
e) &H ¥ I3 &l

T 10-11 :Eﬁ:?ﬁTIA, B,C,D,E3F
U A U @S B, 9 T g & e i gER

L B,C%u3, wq C, F % e 7 ) 1:'

Il. DU R C3dH A g

. AEaFsFdaEs | - m

10. CdRAzR . 10.

a) BIE®
b) BaAD%.
c) BIF®%
d AGBH

e) Sﬂﬁﬁﬁﬁ’f

a) 18
b) 19
c) 15
d) 14
e) None of these

8. Correctreplace of Xin the following is

The missing number in place of

“?is

4

13

11

o)

153

120

o) 32

b) 45
c) 16
d) 48

e) None of these

Q. No. 10-11 : Six persons A, B,C, D, E
and F are standing in a row, one behind
== 2. the other in the following way :

B is behind C, but C is not near F.
D is at one of the ends and three

places away from C.
A is between E and F.

C iz between

Band E
b) Band D
c) Band F
d) Aand B

e) None of these

Y
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11, DIRTH SRR A TR SR ET R ? 11. Dis at one end, who is at the other
a) F ' ‘;’??
b) C . E
c) E ¢) E
d A d) A
e) 3T & &3 el e) None of these
12, &1 8=, ofF et 7 9 & o1 g 15 79 12. Two oranges, three bananas and four
21 o R, A e 9 O w10 w9 apples cost Rs. 15. Three oranges,
firerT 2 | 31 3 E, 3 % 7 3 da two bananas and one apple cost
; ’ ‘Rs. 10. Amit bought 3 oranges,
et shiera TR | 3 bananas and 3 apples. How much
a) ® 10 will Amit pay ?
b) %. 15 a) Rs. 10
c) %. 8 b) Rs. 15
: c) Rs. 8
d) ! i wqﬁﬁm el d)Cannot be determined
e) T U =1 el e) None of these
18.  Framersht afeenfiar § v S 1 8 ey 13. - Ateam of 8 persons joins in a shooting
' ? | 999 7= MITHeTS Y 85 aiw aiiq competition. The best marksman
foru | 92 a® 92 31 1fla s o Ay scored 85 points. If he had scored
1 3Tg 84 37® BT | AT = ARy 92 points, the average score for the
s teamwould have been 84. The number
a) 665 of points, the team scored was
b) 656 s
b) 656
c) 566 ¢) 566
d) 645 d) 645
e) T 4 ®Ig el e) None of these
14. o 31 190 136 2 | af2 wom 7 fdiy 14. The sum of three numbers is 136. If
aq’qﬁ 1 9 2 : 3 e feey wa qei the ratio between first and second be
TR UM 5 : 3 B, o fitw ofe 2 2 : 3 and that between second and third
a) 48 i is 5 : 3, then the second number is
b) 72 a) 48
| b) 72
c) 66 c) 66
d) 60 Y60
e) T8 ¥ i 7E e) None of these
CGP-15-02* Page No. 7
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15. IRk 5% =3125, dt 5@~ s oM 2 15. If 5% = 3125, then the value of
a) 625 | 5 %ig '
b) 25 a) 625
25
c) 5 ¢) 5
d) 225 d) 225
e) ¥ A Hig A& e) None of these
16. = 1 eq 20% Sg1 a1 S § | O 16. The price of tea being increased by
=afdg A = A @I 20% FH H 20%, a man reduces his consumption
a1 8, o1 3 safad o fohan gfisma @< by 20%. By how much percent will his
T 9T T ? expenses for tea be decreased ?
a) 4% a) 4%
b) 5% b) 5%
c) 6% c) 6%
d) 20% d) 20%
e) T & =id 7 e) None of these
17. Torelt aeq o1 He 2o Wied 44 616 %. 17. The sale price of an article including
2 ) ¥cw TR Y [ 10% 2 | Rk gFRR the sales tax is Rs. 616. The rate of
12% @ 3TRTa LT B Y Sg 1 AT sales tax is 10%. If the shopkeeper
S 2 has made a profit of 12%, then the
a) 560 cost price of the article is
b) 600 ¥ e
b) 600
&) 5o c) 500
d) 525 d) 525
e) T @ I3 el e) None of these
18. 2,430 %. H A, B @1 C # 39 WK 18. An amount of Rs. 2,430 is divided
Trefre foran srar & 7 oft ok e Y between A, B and C such that if their
AN 5, 10 9o 15 %, &9 & I S, shares be reduced by 5, 10 and 15
5= §.§ ofr = ST 3:4: 5 B rupees rgspectngly, the remainders
3 79 B w1 e M sfl1all be inthe ratioof3:4:5. Then,
a) 880 %\0 B's share was
b) 780 = A e
<> b) 780
c) 800 c) 800
d) 1,000 d) 1,000
e) T & &5 T &Y None of these
Page No. 8 Set-A
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19. U QR G 1 &t 40 f&a1 # quf shtan 19. A contractor undertook to do a piece
2 5@ w1 & fIw 98 100 i & of work in 40 days. He engages
5% 3 e 100 iR omefiEl /1 35 A 100 men at the beginning and
I8 TmER i T FE 1 e 9t qo 100 more after 35 days and
ST 2 | o 9 siffed el & 7 completes the work in stipulatecfl tlme
T & vE B ) Read s R ﬁ{ﬂ If he had not engaged th.e-addlttonal
4 7 man, how many days behind schedule
' would it be finished ?
a) 5 a) 5
b) 4 b) 4
c) 3 c) 3
d) 7 | d) 7
e) 37 & IS T e) None of these
20. o0 Us %M & 10 KA g @wr 15 e & 20. Aruncando a piece of workin 10 days;
@mm%|aga:ﬁq$mg 5 feq Ramesh in 15 days. They work
wd w0 F, A9 FE Ry Y 2 R § oo together for 5 days. The rest of the work
forr | afe 3w qof 0 ¥ 5. 1,500 was finished by Naresh in 2 days. If
fro iy & 2 e e o <6 3 “Tﬁf' they get. Rs. 1,500 for the whole work,
the daily wages of Ramesh and
& Naresh are
a) 250 a) 250
b) 275 b) 275
c) 225 c) 225
d) 200 d) 200
e) 79 ¥ HIg T e) None of these
21. Ush g@HMER % 98 1000 kg =i 8, fored 21. A merchant has 1000 kg of sugar,
T S T 8% T R 7T Y 97 18% part of which he sells at 8% profit and
F A W S=ar 2 | 38 e 14% 1 AN the rest at 18% profit. He gains 14%
&I 8 | 18% W1 WX syft 718 <At ot on the whole. The quantity sold at
il 18% profit is
a) 610 kg a) 610 kg
b) 620 kg b) 620 kg
c) 600 kg c) 600 kg
d) 630 kg 'd) 630 kg
e) ¥ & T"ﬁ T e) None of these
CGP-15-02 * Page No. 9 Set-A
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s 22 - 25 : Tadw : Ffafea smee i
F o /ey fow e ¥ | e E, ufe
- a) had | gt e s s
b) ehae Il sigefrer foma S warar 2 |
c) | |l ST sTgEia fema S ke 2 |
d) =1 4 | 2 11 1 srgenfia frem s
el 2 |
e) Tl & Il % srgefia Brar
HohAT ¢ |

aF=8T : o gy =1 v = weemr oy
el T IR T & 98 35eh! ferarar vy i
A § AT IR WEAATIR W ) et
STRTESHT @ | U U o) S aun arqiatd
=T oAt & 3%k vk o1 Hifersh g R
I FE] 34 U o TAeTaT o fAU ST Ters
2 | v fERAI YA o e g g w

el & Foreft wrelsifien wom w i st v g
o, T T U % H9R o7 6 98 e 2 R
FE 37U 5T hIcTH ohl SRR T € e
™ |
22. ) g1 1 YaTE HAGTal & Wae i o
=11 wEEdr ol 8 |
1) T 51 FaiTe Urefior S A1 wgradr Ta
FAT2

23. ) GHITGEHIY U8 S HEEITST T wias)
Freffia v 2

Il) EFITEshiT I3 Shael S HEITIAT T
iy Ged LT @ |
24, i)naamgﬁgnmww%l

1) W@WW@ﬁﬂfﬁﬂaﬂ?ﬁl
2 fer 9% 9 waeE |

For Q. No. 2225 : Directions: A passage
is followed by some arguments conclusions.
Decide whether _

a) Only | can be inferred.

b) Only Il can be inferred.

¢) Bothland Il can be inferred.

d) Either!or Il can be inferred.

e) Neither | or Il can be inferred.

Passage : The wisdom with which the
voter uses his ballot is determined by his
individual intelligence and how well he
keeps himself informed of public affairs.
The free and uncensored flow of information
in a country is fundamental of its democracy
and of unestimable aid to its voters. While
an individual news organ may take a
position on one side or the other of a public
question on the editorial page, the tradition
of the country’s press has been to contihue
news columns to matter of fact.

22. 1) Free flow of information helps a
voter to exercise his vote
judiciously.

) Flow of information does not
help rural people.

23. ) Editorial page decides the fate of
a public question.

Il) Editorial page can only eliminate
the fate of a public question.

24.@1) Voting is a measure of intelligence.

1) Intelligence of the voter fully
determines how the voter casts
his vote.

CGP-15-02*
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25. |) HTGR U3 Haardl H HaeH sHegR
yefiferd s 2 |
It) TrrefioT ST 36 WeRTAT < HAqH sh AR
TR 95 goTfad el o T |

oo 26 — 28 : Fidw : 3w g w7 A o e

& we A Frewd ¥, frshel o1 qehaTa wlievl
Fh TE IW |

' a) 3% | sgAa 2 |

b) afe It srATa & |

c) afe | 7 Il ST TG € |

d) afeam | 11 g €

e) AR AWM 1T Il FHE R

26. YA :

A) Fig T Ieq LT 2 |

B) 1<ige o1 frramur we ik Sraee
S el

e _

l) @rige ¥ G IRl WIS WHIH
U Y T g4 R |

Il) g & FehnT Aitash i Ty
T B

27. @®9UA
A) G YT ISl oI Teh ITH HIA B |

25. 1) The newspapers affect the
voting behavior of voters.
I) The newspapers do not affect
the voting behavior of voters in
rural India.

For Q. No. 26 — 28 : Directions : In the
question below one statement is followed
by two conclusions. Examine the logical.
applications of the conclusions and
decide which of the answer — choices is
correct. Write

a) Iflisinferred.

b) If Il is inferred.

¢) If both | and |l are inferred.

d) If either | or |l is inferred.

e) If neither I nor llis inferred.

26. Statements:

A) Conflicts in mind create tension.

B) Resolution of conflict leads to
good mental health.

Conclusions :

[) One becomes very hefty and

strong by resolving one’s
conflicts.

1) Freedom from conflicts leads to
. good mental health.

27. Statements:
A) Sunlight is a very good source of

energy.
B) TN 3l o1 STefereh Tarershall 2 | B) There is a great need for solar
. energy.
Feed: . - Conclusions :
1) St ger &t & off s feRn s ) Energy can also be obtained from
FFAT 2| ™ c();the‘r_sources. . : ;
: oal is a very good source 0O
[l) SRITAT HAT hT =S EIA ¢ | energy.
28, U ¢ ; 28. Statements:
A) FEHF T HEH AR B ¢ | A) Intelligent people have great
B) e Sl &t aga STodl aHeH ¥ insight.
: YT 2| ; B) Anil is able to see through things
very quickly. '
Freed : Conclusions : T..
l) i gfeam =) ) Anil is intelligent.
) =fet TEm =gl = | Il) Anil has great insight.
CGP-15-02*
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29. =fe Qe w19 ‘add to'; J T 318 ‘multiply
by'; T &1 319l ‘subtract from’; =er
K =1 319 ‘divided by’ 2 4
30K2Q3U6T5 = ?
a) 31

w9 30 — 32 : Fdvr : fou e sgede F a
i e T T B E, St 3 31 3 SR
W fferad s d & o | '

a) fafvea &u & g |

b) weIfad w9 & ¥ |

c) TR B9 & 39

d) fifeTa w9 @ 3mma )

e) H=HT Hudiw

AT HES I g SIIgE % 5w W fie
g1 FHME &1 U GUE Aqed F * A0 T
SR | 9 e =T “ovree’ 9 verrg W s
ST T Afh = % wrefies wwon § o
¥l & T, W e wftase § sud gyd s
& | Hel WH-TH ¥ YR SgemeE g e
oré S gl 2 | sifan i e afegtar, wem
sfe wfe ¥ ) sifean wrifer v @ R @
T 8 R ) g B 9 gom & off e

30, fewr # yuf forvame e e safe fret
% uf gt i w@ar 2

31. I St IR ST quT e § |
2 ﬁ‘e‘i@ﬁwﬁf‘rﬁwmﬁm?{w%r

CGP-15-02*

29. IfQmeans ‘add to’; J means ‘multiply by’;
T means ‘subtract from’ and K means
‘divide by’ then 30K2Q3J6T5 = ?

a) 31
b) 15
c) 14

28

e) None of these

For Q. No. 30 - 32 : Directions : At the
end of the paragraph given below, some
conclusions have been drawn. On the .

- basis of the study of the paragraph, mark

your answers as under
a) Definitely true
b) Probably true
¢) Probably false
dy Definitely false
e) Data inadequate

“Yoga is supposed to lead to some kind of
intuitive insight or to a collection of ecstasy.
I have practised a few selected “ASANAS'
and some breathing exercises but have not
gone beyond the elementary exercises/
stages of the body and my mind continues
to be a misbehaving unruly member. The
discipline of body, which includes eating
and drinking the right things is to be
accompanied by what the Yoga system
describes as ethical preparations. This
includes non-violence truthfulness,
continence, etc. Non-violence or ‘ahimsa’
is something much more than abstention
from physical violence. It is an avoidance
of malice and hatred.

30. A true follower of ahimsa has no
&~ iil-feelings for anyone.
31, Yoga is only a set of some physical
exercises and asanas.
32. Ethical preparation means eating

% and drinking the right things.

Page No. 12 Set-A
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33. A &R 2B U smieg 17 St 33. A remembers that B celebrated his
& 918 W] 22 4 A UES WA, Sk birthday after 17t" but before 22nd of
B & & & fF 24 S 3 =S g June, while B remembers that the
- s ' birthds th
o Owﬁmmﬁmﬁﬁﬁﬁmﬁﬂ birthday was celebrateq before 24
but after the 20™" June. On which date
- T T Y
o was the birthday celebrated ?
3
2) 3% a) 23" of the June
b) 22-ag b) 2279 of the June
€) 215 $Y218t of the June
d) 17 ST d) 17" of the June
e) T4 q I3 T& e) None of these
34. Tmafafad a8 34. Given the following premises :
i) T q Ava § | i) Every human beings are mortals.
. ii) All men are human beings.
i) ¥l gey Wy 2 | -
) o Which of the following is the
S FA H He e < appropriate conclusion to be
a) 9+t &y qvat & drawn ?
b) wsf) et ey %il men are mortals
- : b) All mortals are men
Tt g :
€% e R ¢) All human beings are men
_ d) weft A T @ d) All mortals are human beings
e) TH ¥ =g 7} e) None of these
35. s fHivad amt # “la pil ta” &1 219 “Fruit 35. Ina certain language “Ia pil ta” means
is sweet”, “na sa pii”' 1 319 “flower - “fruit is sweet”, “na sa pil” means
and fruit”Td “na tee la” %T 379 “flower “flower and fruit”; “na tee la” means
is beautiful” 2 df 3¢t w1 & “sweet” 1 “flower is beautiful”. In that language
319 Eh | ' what stands for “sweet” ?
a) la a) la
b) ta oy fa
Cc) sa C) sa
d) pil “d) pil
e) 34 & 1§ 4 e) None of these
CGP -15-02 * Page No. 13 Set-A
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36. ARA10H, B124, ...... FHMGETG

7.

38.

g | A Frafafaa frd veftfa =61 |
46 '50 36 16
a) ANSWER

b) SUNDAY

c) MONDAY

d) BEAUTY

e) ¥4 ¥ I3 e

19 100 @k <Al qurfer Gearet | sie ‘1
o R ekt ot gar 2 7 |

g 39 i

b) 20

c) 21

d) 22

e) T ¥ I3 7

feferfea & =1 o1 w70 @ s 2
(afg &) ?

S, ArE, dara, fooren, s

a) ®Ed

10 58

36.

37.

38.

If 10 represents A, 12 represents B
and so on, what do the following
stand for ?

46 50 36 16
a) ANSWER

by SUNDAY

c) MONDAY
d) BEAUTY
e) None of these

10 58

How many times the digit ‘1’ has been
used in the integers from 1 to 100 ?
oy 19
b) 20
c) 21
d) 22

e) None of these

Which one of the following is different
(if any) from the other ?

February, March, November,
December, January

ey g Bl
) c) December
d) sHat d) January
e) T § HIg T e) None of these
39. P=1322x1325x 1328 3| P! 14 39. P=1322x1325' 1328. P is
| W foam SiTaT R | st B _divided by 14. The remainder is
a) 2 a) 2
b) 3 b) 3
c) 6 c) 6
d) 8 | 4’8
e) 394 U wis 7 e) None of these
Page No. 14 Set-A
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40. U forenell 4 U <A1 %@ Ui HEATSHT

1 S8 9 597 1 A0 9T foha | w3
3 S AT foh 97 U HEA Siedr o
T 2 | el g3 9 9 © |

40.

A student, while adding first few
natural numbers, obtained the sum
of 597. Later on he noticed that he
forgot to add one number. That
forgotten number is

a) 31 ) 31
a
b) 32 0 a2
c) 33 c) 33
d) 34 d) 34
e) 9 § hig e e) None of these
41. aFb% 10l aFAA R 41. b% ofais 10. Value of a is
100 100
3 5 3 b
1000 1000
b) T ) b
_b_ b
© 700 © 300 -
B B
9 J000 9 fo00
e) 3T ¥ s T e) None of these
42. Trafafaa & @ =4 @1, =9 9 e & 42, Which of the following is different
@k wRS 2 ? (if any) from the other ?
e, ¥, @, So, o Candle, Sun, Fan, Bulb, Lantern
a) He! a) Candle
b) =ed b) Bulb
c) weieH c) Lantern
d) g3 AiBun
e) ¥ ¥ 1§ T one of these
43. Frafafes & @ =6 @1, o & o 2 43. Which of the following is different
(afe 5 & ) ? from others (If there is any) ?
TS, seduuy, smefear ASTH A, Airtel, BSNL, Idea, Vodafone, Tata
T SR Docomo
a) TId a) Airtel
b) sfuETTe by BSNL
SREIEERI c) ldea
d) ZET SR d) Tata Docomo
e) 38 4 &S I e) None of these
CGP-15-02* Page No. 15
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44. Tefafad ik srdqul sn 4 saaferd
v | )
1) JYrgay
2) fawa
3) ufrn
4) BHlETg
5) geait
a) 1,23, 4,5
b) 5, 4, 3, 2, 1
c)4,1,32,5
d 1,4,2 5, 3
e) 3T © i3 el

45, fa=feRaa soft

52, 26, 78, 39, .... H AT 9E § |
a) 104 |
b) 114

c) 115

d) 118

e) T & I el

) fou e ywAl (46 @ 50 @eR) ¥ 9 g fey
e | 3 veal § IR 5 ey R 6 58 gEeEe
FreferRea werr & 3w €S |

a. IR TH, TR F1 IAE 7
b, R 3, el o1 35 v
c. AR TH, THL T FH 7
d. I ueh, TR Y TavEH 3

48. maum,gdzm.

44. Arrange the following in a meaningful
order :
1) India
2) World
3) Asia
4) Chhattisgarh
5) Earth
a) 1,2,38,4,5
b) 5,4,3,2,1
©/4,1,3,2,5
d) 1,4.2,5,3
e) None of these

45. The next term in the following
series :
52, 26,78, 39, ....is
a) 104
b) 114
g} 118
d) 118

\ﬁ)/None of these

In the following questions (from 46 to 50),
there are two words which may have some
relationship with each other. Identify the
relationship and mark your answer as
follows :

a. If one is the product of the other. |
b. If both are the product of some other.
c. Ifoneisthe cause of the other.

d. Ifone is the need of the other.

46. Negligence, Accident

‘a) a a) a
b) b b) b
c)c %
d) d d) d
e) T 9§ s Tl e) None of these
CGP-15-02 * Page No. 16 Set-A
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47, R, 93T - 47. Paneer, Butter milk

a) a a) a

b) b _ b) b

c)c | c)c

d) d | | d) d

e) $94 § 13 el e) None of these -
48. G%erdl, HEdd 48. Success, Hardwork

a) a | va'J/ a

b) b b) b

c)c c)c

d) d -~ d)d

e) T | g el e) None of these
49. U™, U 49. Cotton, Thread

a) a a) a

b) b b) b

c)c c)c '

d) d d) d

e) 9 ¥ whig 78 G e) None of these

VL

50. fafeheash, SR =X & 50. Doctor, Patient

a) a = '7’(3 A a) a

p oot <
b) b £ % x b) b
\
N

¢) 6 c) ¢

d) d | | &

e) T ¥ g e | . e) None of these
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Frerfefiea o =t n, foredt frm & s,

51, 51.  Which one of the following is different
HAI G HAT R (AR ? (if any) from the other, according to
. : le ?
aBEFij, gHKLop, pQTUyz, bCFGik, -
qRUVyz aBEFij, gHKLop, pQTUyz, bCFGik,
a) aBEFij b ool
b) QHKL a) aBEFij
) g r:)p gHKLop
) HORGR ¢) bCFGjk
d) qRU\(yZ d) qRUVyz
e) 3T & =S T e) None of these
- 52, Ty=fafaa § @ =59 1, 37 ¥ 3@ 2 52.  Which of the following is different
(afk ) ? " g (ifany) from the others ?
%2, TS, 39, Uhg, Hid Foot, Yard, Inch, Acre, Mile
a) T a) Yard
b) ¥ b) Inch
c) The yf Acre
d) Ha d) Mile
e) T & i3 e e) None of these
53. frfaRaa ste-2ofl # e wom w 53. Which letter will appear in the
(?) =TT &R 1@ ? missing place (?) in the following
= i ”
P.UR?2TQVO letter-series * i
. P, LaR:2: T,Q, ¥, 0
a W 1 yiey 1y Y
b) X af W
) b) X
C) S C) =
d) Y d) Y
e) ST & IS TEl e) None of these
54. a2 MACHINE % freft s s 54. If MACHINE is coded as 19-7-9-14-
19-7-9-14-15-20-11 foram siar & o 3¢t 15-20-11 in a code language,
Fe o § DANGER =1 foran smam DANGER will be written, in the same
a) 12-7-20-16-11-22 ‘3)'-‘91“2332;?6 r1om
a - - - - -
10-7-20-13-11-24
o) 12 ; zg :? 10 25 10-7-20-13-11-24
¢) 13-7-20-11-10- c) 13-7-20-11-10-25
o) 38-7-23 1150 d) 13-7-21-11-9-24
e) &H & IS e e) None of these
CGP-15-02 * Page No. 18 Set-
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ﬁﬂ%ﬁgaﬂsmwmmﬁ (55 ¥ 60 TF)

w1 I AN |

ga=fd S, T, U, V, W, X, Y formi we gfaet
®, Ush SSII-RIL, Uk TTT%, Ush TITIIehl, Ueh SIhaR,
ek Sehied T ek ©10S Thidod & (SATaIveh 8l
for sl m A El) | 3 aeft SverT-3ter e U=,
Prerehat, ST, TG, S, ger o st i
(AT ST e W © |

S e i & ok S F et 2 1V i
T 2 AR e a1 TS A9 & | Sreimar i

AT TR R | Y IS Thised § 98-

a1 grars # R @ & | W U el & ad T

H @R X%ﬁéﬁtﬁm%ﬁwglumhjﬁ%l.

U ok e B

Answer the questions (55 to 60) based
on the following information :

Sevenpersons S, T, U, V, W, X, Y live in

_ different cities Ranchi, Kolkata, Bangalore,

Raipur, Chennai, Mumbai and Bhopal
(not necessarily in the same order). Out of
them one is a doctor, one engineer, a male
singer, a female singer, one professor, a
lawyer and a Chartered Accountant (not
necessarily in the same order).

S is a female singer and lives in Ranchi.
V lives in Bangalore and he is neither doctor
nor singer. One who resides in Kolkata, is
aprofessor. Y is Chartered Accountant and
lives neither in Chennai nor in Mumbai.
W is a lawyer residing in Raipur. X lives in
Chennai and he is not a Singer. U lives in

Mumbai.
55. VI ToE@E TR 7 55. What is the profession of V ?
a) TEH a) Singer
b) S Thisree b) Chartered Accountant
C) TSiHT @Y Engineer
d) Feifa ==& fomam s gekar d) Can not be determined
e) T4 ¥ wIg el e) None of these
56. WIHEHH & ? 56. Who is the Professor ?
a) T @T
b) U b) U
c)V c)V
d) X d) X
e) T @ Wi &l e) None of these
CGP-15-02+ |
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57. Fofafega d s Sy d war 2 7 57. Who among the following lives in
a) T Bhopal ?
b) Y 1
ot
G _ c) YorT
d W ) d) W
e) T & &S & e) None of these
58. @ R 7 | 58 Whoisthe Doctor ?
a) T ' AT
b) U b) U
o)V | av
d) Y . d) Y |
e) S8 4 &S &l e) None of these
59. efdet FeEl T @ ? 59. Where does the Doctor live ?
“a) gETs : é) Mumbai
b) W b) Bhopal |
c) ¥|§ | \c,%hennal
d) STER _ d) Bangalore
e) 3"17}@ g A : e) None of these
- 0. Frofafea i smumaEm I E | 60, Which of the following pairs of
gHEEI AR R T profession and place is not correct ?
- a) MR - T k. a) Female singer — Ranchi
b) STER - ehicTehdl b) Professor — Kolkata
c) dehled - TEAYL | c) Lawyer — Raipur
d) SfaT - e | . a)/!goctor— Bhopal
e) T ¥ &g e : e) None of these
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frferfiaa wot (61 4 66) 1 s H U uw | Each of the following problems (61 to 66)
AT A HIE F GG F 2 3 | o Fioky o 2 has a question and two statements S1 and
e L 1 39 3 % R S2. You have to decide whether the
FWH Wi e L ' statements S1 and S2 are sufficient or not
AT & A1 72 | 31T forhey g to answer the question. Your choice will be
A1) A% S9! T 1 I Shael % 1 9§ firerar A1) If you get the answer from S1 alone
2 g A & 2.9 =) fireran | but not from S2 alone.
A2) R ST S T 3 e % 2 & Frerd A2) If you get the answer from S2 alone
B but not from S1 alone.
2 foeg et & 1 & ol e |
: ' ] A3) Ifyou getthe answer from S1 and S2
A3) fg T9eh! SRH T I E 1 TATF 2 §F) together although neither statement
% WA ¥ fuorar @ s@fE 8 oft waq in itself is sufficient to answer the
S o w3 3 R e 7 2 £
: ke : A4) If S1alone is sufficient in itself and
A4) e 32 & fore a1 3 3 A i S2 alone is sufficient in itself to get
& A F 2 319 19 F gofeq 2 | - the answer.
AS5) afq HAT9eh] 99 ] I F 1 a1 & 2 21 A5) If you do not get the answer from
¥ T & oft 7 fovsar o Se i & S1 and S2 together and some more
' information is required to get the
o g wiferen e ) snavasaT £ | ARSWET.
61. 343 &l A foral B 7 61. What is the age of Umesh ?
F1: WS Ui vgT ¥ 398 BT B S1: Mahendra is 3 years younger
2 : I AT Y TR A iy A wefl 1D i3 iSta,
i 3 341'3 S2: Age of Umesh is half the age
a) of Mahendra .
~h) A3 a) A2
c) A4 b) A3
d) A5 %‘;
e) 35 § s e ' e) None of these
62. 1 el A1 Uk g w7 8 & fawnfem 62. Is a three digit number divisible by 8 ?
ERik S1: Digitin the unit's place is
& 1 : AT o AW I G&IT 8 & wH greater than the digit in the
'ﬁwﬁﬁ%l . ten’s place.
: ' S2: This number is divisible b
F2: TR GEA 2 34 @ R e ) Surdd it
b) A3 b) A3
& A EL;
~ I A1
e) I ¥ i3 T | e) None of these
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63. a1 &G R 7 7
%1 oy afema 20 A, R
o 2 : o ohI T e 5 &AL B
a) Al
b) A2
c) A3
d) A5
e) T § IS e

64. ferelt wlien H ura B % fore =g sferrd
! '
& 1 : gfier o e § 25% i et €
3 g 1 200 o7 firet B &
il & ol & 40 ifers
o 2 : Grict i, Sxiivl 8 o fere stavee

R i | 64 37k hA A &

a) Al
b) A2
c) A3
d) A4
e) 398 & g &

65. R i fera @ ¢
%1:®R100 fh . Aghod ® &

63. What is the area of the square ?
S1: Perimeter of the square is 20 cm.

S2: One side of the square is 5 cm.
ay/At |

b) A2

c) A3

d) A5

é) None of these

64. What is the minimum percentage to
pass some examination ?

S1: Suneel obtained 25% marks in
the examination and Sudheer
obtained 200 marks which are
40 more than marks of Suneel.

S2: Suneel obtained 64 marks less
than minimum passing marks.

a) A1l :

b) A2

@yﬂs

d) A4

e) None of these

65. What is the speed of car ?

S1: Car covers 100 kms in 2%

GRETGIE
: hours.
2 R R g A S2 . Car travels a total distance of
| RO 120 kms.

a) A2 a) A2
b) A1 %1
c) A3 c) A3

d) A5 d) A5
) T8 ¥ =g e _ e) None of these
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66

67.

68.

e Tt o 4 sy ush o o1 o SR 7

% 1.2 aart 3ft 3 ufeamd 7€ w1 8
ot g e @

& 2 : 6 el 38w A 5 T § g
GRS

a) A2

b) A1

c) A3

d) A4

e) T  HIE el

16 e 1w R g @t

AR 31 T Reum ST 1 3geh) R
a7 ot § srrafi & selt 2 ) O % 2R
o @ gn & ety famere s 8 ved,
7 off 7

a) 9 di

b) 8 di

c) 7 d

d) 5 df

e) 374 ¥ &3 2l

A, B, C, D, E ufg =afay & =gy foreft
& § HeAT-HAT 3 g U | B I
ad C & sAfersh o7a wred fohw | D aaT E
dohad A H W 37 T R | Gad e
Fieh Tore uie oy 7 |
a) D

b) E

c) B

d) ATHe F9aT

e) 3 ¥ #13 e

66.

67.

68.

CGP - 15-02 *
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In how many days 4 men will
complete some work ?

S1: 2 men and 3 women complete
the work in 8 days.

S2: 6 men complete the work in
5 days. '

QA2

b) A1

c) A3

d) A4

e) None of these

Kusum’s position from left side of a
line consisting of 16 girls, becomes
8th when she was displaced 2
positions towards left. Kusum’s
position, from right side of the line,
before displacement, was

a) gth

b) gth

@7t

d) 5ih

e) None of these

A, B, C, D, E are five persons who
obtained different marks in some
test. B obtained more marks than C
only. D and E obtained marks less
than A only. Who obtained the
rminimum marks ?

a

D
b) E
B

Q

d) Insufficient data
e) None of these

)
)
)
)
)
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O A |
fopferaa g # forelt o # =m fafim o=l

A ) & e guem ool A R & aTiee
(a9l ¥) few 1 € |
wuTER | TeRAT | gfEmn | sREE | v

A 120 75 82 225

B 105 80 78 220

s 25 30 38 48

D 65 45 40 55

B 80 53 52 85

wm%wmﬁmﬁrﬁaﬁuﬁ(ssén)
w1 3w AT |

HAereman R are &1 FHTER-v31 o1 forshl
T TR B

69.

70.

Pl

a) 15,000
b) 16,000

c) 17,000

d) 19,000
e) ¥ A+ T

T 71 7 gerd <y fosht It gmmEmR
uat o ekl w1 A B

a) 64 x 103
b) 361 x 103
c) 65 x 103
d) 342 x 103
e) T & &IS e

TUER U9 E &1 USEAH 3R 7equest §

Below is given a table showing circulation
of Hindi daily newspapers in 4 different

states in a year. Numbers are in thousands.

Newspaper|Rajasthan| Haryana|Jharkhand ;q;%t;‘;:
A 120 75 82 225
B 105 80 78 220
c 25 30 38 48
D 65 45 40 55
E 80 53 52 85

Answer the following questions (69t0 73)

based on the above table :

69. Differemce of sales of two newspapers
having maximum circulation (sale) is
a) 15,000
b) 16,000
c) 17,000
d) 19,000
e) None of these

70. Difference of sales of newspapers
having maximum and minimum -
sales is
a) 64 x 108
b) 361 x 103
c) 65 x 103
q) 342 x 103
e) None of these

71. Ratio of circulation of the

Tereror 1 o7OTd ® newspaper E in Rajasthan and
a) 17:16 Madhya Pradesh is
b) 16: 17 3/1{? 116
' 6:17
C) 21:44 C) 21 - 44
d) 44:21 d) 44:21
e) T ¥ Wi Tel e) None of these
CGP-15-02* Page No. 24 Set-A
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=R T A il gerye 4 foehi, aumem 9

72. Sale of newspaperAin Madhyé Pradesh

D i e § fsh xiﬁ%?ﬁ X ST HA 2 is x times the sale of newspaper D in
Haryana, then value of x is
a5
5
b) 45 2)
b) 4.5
54 c) 4
d) 3.5 d) 35
e) T ¥ F13 T &Y None of these
73. GHMER T ) ged sftes fasht o @ 73. Ratio (upto two places of decimals)
U=t # guTER-uE i feht # STy of the sales of newspapers having
(Z3erd o <1 TJHT d) B maximum sales in two states is
a) 1.02 a) 1.02
b) 1.36 b) 1.36
c) 1.40 c) 1.40
d) 1.60 - d) 1.60
e) T Y WIS 8 e)None of these
74, 3OS SuimTer & el # @ guft @l 74. All the vowels are removed from
et fegr star @ |a‘rﬁa%§qaqaﬁeﬁ the English alphabets. Remaining
: [ o alphabets are arranged once in
e L wed Ll ﬁ p ST R | increasing order and once in
a8 e e feufa 21 sl 3, o & decreasing order. The letter
T AN, 98 B (alphabet) whose position remains
the same in both increasing and
a) L . . »
decreasing order is
b) M a) L
c) P b; g‘
-
d) Q . 4 Q
e) ¥ ¥ W% el ey None of these
75. URH, G 1 & GrATaT % WIS A AR | 75. Saurabh is the son of the brother of
R, T ¥ form v wvereeg @ 7 Sunitha who is the sister of Suresh.
a) T ' How is Saurabh related to Suresh ?
b) e T g a) Son
b) Son of uncle
c) e
c) Nephew
d) & m ATl Q@on or Nephew
e) T § 1§ Fel e) None of these
Page No. 25
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76. e s afhrr <) 39 12 e e,
oT§ S qgo 16 Hiet ue | 3qF a8
TRt T TR geat 12 HieX =@ | 31 =
o yrfeye Toe @ Ty feam & qon
forafi g e ?
a) ufsm, 16 ot
b) 4d, 40 .
c) @, 16 .
d) wfgem, 40 .
e) 379 ¥ 13 Tl

Uk IER 1 M1k 3T o SR W, gfEr |
fop 1 fafS= wet o =z w1 foremor feifora
ga-faz # awf w2 '

A - It Y e W e

B : HenT 1 fortrn

C : Tasefl 3 ot W =g

D : aTEH, A% 3 TEEE W g
E : 9iSH W = |

Wé@@??ﬁ&ﬁﬁwﬂaﬁhﬁaw
T € | & WAl % 39 A |

76. A person moves 12 meters towards

south, then furning to left, moves
16 meters. After that he again turns
to his left and moves 12 meters. In
which direction and how far is the
person from his initial position ?
a) West, 16 meters
b) East, 40 meters
¢) East, 16 meters
d) West, 40 meters
e) None of these

The following Pie chart shows the

expenditure of a family on different
items based on its monthly income.

Where

A : " Expenditure on education of
children
House rent

C: Expenditure on electricity and
- water

D : Expenditure on vehicle, telephone
and maintenance

E : Expenditure on food

Question numbers 77 to 80 are based +
on the chart given above. Answer these
guestions. .

CGP.-15-02 %
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77. I oSl s ot we s =, 800/- B«
s IR feeem =a= g ?
a) %.5,500/-
b) %. 5,600/-
¢) %.5,800/-
d) ¥.6,000/-
e) 1 ¥ I e

78. e sl ) fven w =@ 5. 20,000/~ &
1 Weh o1 TR fera @ 7
~a) %.4,000/-
b) %. 4,400/-
c) %. 4,500/-
d) %.4,800/-
@) FH A B

79. IR wod e ok we® w9 = Tl
' 3 AR T. 17,500/~ B A TRAR A
S et R ?

77.

- 78.

79.

It expenditure on electricity and
water is Rs. 800, then how much is
the expenditure on food ?

a) Rs. 5,500/-
byRs. 5,600/

c¢) Rs. 5,800/-

d) Rs.6,000/-

e) None of these

If expenditure on education of
children is Rs. 20,000/- what is the
house rent ? '

a) Rs. 4,000/-

b) Rs. 4,400/-

c) Rs. 4,500/-

d) Rs. 4,800/-

gl Aone of these

If Rs. 17,500 /- be the difference of

_ expenditure on items having

maximum and minimum
expenditure, then what is the

a) ¥. 40,000/- income of the family ?
b) %. 45,000/- a) Rs. 40,000/-
¢) ¥. 50,000/- b; gs. 42'333; ;
c) Rs. 50, "
d) %. 55,000/- d) Rs. 55,000/-
e) ¥ & ¥ T ey None of these
80. Ted Aftrer =¥¥ Frelt &1 WAl IR = d 80. Ratio of expenditure of two items
&1 o9 qiell dF mel % = 1 I 2 having maximum expenditure and
b \D expenditure of three items having
a) 3:1 minimum expenditure is
b) 1:3 ~ {’ a‘~ ) |
c)3:2
d) 2:3 d2:3
e) T A ‘uﬁ%qﬁ _ e) None of these
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81. faa vam 6 gfd Frfafaa § 3 g 86. fi=iferfiga # & =i ysg wforft € 7
1 ST Gkl § 7 i) frf
38 w3 i) FHR
iil) 3¢
o i el
| a) i, i T i
5 A b) i, il o iv
g) ¢) i, i @ iv
gl d) i iv
g2, v AR ? e) i, i, i ud iv
a) s 87. e stiv T P SRR 7 |
b) fer=st a) % o A |
c) Siida b) =1 % e @
d) 88 c) Her @
e) WUl d) 388 & 2 @ .
- & < % I @
83. FuERH AT FTR ? '
a) |gt 88. ‘Il UT@ AT YeEral H 3G R |
b) Sfisi a) Y[EF Y& AT
c) &3 b) w1 & ST
d) =@ c) Td § ISR BT |
¢) ¥ ¥ Fif T d) T feet A |
e) G 3= FHI
84. ‘% WG HT WIFATIH T T & ? : o |
@) FHFA 89. ‘s el wEAISIATR 7 |
b) =e3ITS a) el
b) A1
C) e . ek
gy T ‘
6)- s e) W |
85. TG’ 1 foRIoOT 1o ST, | 90. ‘eufo@ w® & =1 saned am |
a) TTgHET a) 797 forga fes
by T b). &5 ford
¢) LA o)A foraa 3
d) Tagi d) ¥ fore ol @
e) TagRae e) a9 forgan
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91.

o=

95.

TRt 7 ST o frer e @

gATR 7
a) g
b) drfeA
c) 79y
d) s
e) Hers

T et b fererar fore wreh forfty &
EIE 7
e
b) et
c) I
d) oTauw
e) urfd

a) IT WY ! T8 ] 7S e & |
O 7% w1 ) w B S B 2
c) 3% TS B g% § |

d) 35 ©e 7 & T 2 |

e) T & IS 7 |

7Rt fora 2

a) A1t TST Wl © |
bf =g e R |

c) TeTsh %ol @Al & |
d) g ot st 7 )

e) ¥ 4 =¥ 7 |

9=
&f
b) &
c). 3t
d) a=
e) T

YR % Bid 8 |

CGP-15-02*

- 96.

97.

98.

99.

100.

‘Tags | H e T R 7
a) HHYRH

b) far

c) sgsife

d) 5%
€) TEy

F 5 g g
T ® | -
a) faftrarass
YRELIECIEC)
c) FeBTdTa®
d) IFTEr=ES
e) formemg=s
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